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PC >
Serial Link il %Su“?é
| RS232/RS485 120 Ohm Termination

Modbus L] Converter " 55
ekt E e cof . Modbus
RS485 Network r— . Slaves

120 Ohm Termination Digital
Oulputs

89 33 ) 3

16DI

Ethernet

Serial to Ethernet 120 Ohm Termination

| | Converter, PC-E 2 5
Ll _'g_ Request :
Moot ; = . Modbus

Slaves
i Response
RS485 Network = :
120 Ohm Termination & Digital
§ Outputs
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RS485/RS232
converter RS485

Ethernet m
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10-6RTD

DAQ

RS485

GSM8000

RS485/RS232
converter




89 0O 0:

Adhoc mode
Slaves
10 RS485 com1 T T Virtual COM for COM1
Module and COM2
PC-W
RS485 comz | PC-W DAQ
Controller Ethernet
TCP Server TCP Client Master
IP address: 10.0.50.200 IP address: 10.0.50.101
VR18 Ethernet Listen port: 4660 Destination IP: 10.0.50.200
Destination port: 4660
89 <;8:2 6 6 2 6 =
<00 5## 0

DAQ (Master)
HMI [Slave)

RS485/RS232
converter

89 <:8:2 6/ : 3
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<2 DAQ Studio Setup

The Installation Wizard wil install DA Studio Yersion 1,20 B6 in the foll_owing'Folde’r:

To install to this Folder, click ' Mext ', To install to & different folder, dick ' Browse ' and
seleck another folders,

-~ Destination Falder

CH\DAG Studio Browse. .. |
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LYETER )

WinZip M DaG Studia
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: @ Observer 1T
HH ¥
@ Docurments 3
@" Settings 3
p Search 3
2 @} Help and Suppart
A =7 Run...
E Shut Down, ..
., 12
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RS485/RS232
Converter
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Communications Port (COM1) Properties

General | Port Settings | Diriver " Detailz " Riesources |

Bitz per second: |l

Datatits: [ I+
Paiity: [None b

Stop bits: [1 Iv]
Flow cantrol: [None >

[ Advanced... ] [ Restore Defaults ]

i 0K i[ Cancel ]
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e Set Program Access and Defaults
@ Windows Catalog
“ Windows Update

<«

@ RealTimeigwer

=]
=1
a
=
2
o}
=
=2
i
-

ﬁ LnInstall
@V Settings 3
p Search 2
@ Help and Support
#=] Run...
1 10 Studio
l=M About

Setup Cornms

Exit ModuelD [T Smpl -

—Setup Comms Part

Cornrn Paort ||:.:,,-,-,,-,-I 1 LI

BaudFate  [3600 =]

Poll B ate |5 # 10ms

Select |
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Module Type: 100
Software Verzion; 1

todbus Walue Label
Address

10001 NG
10002
10003
10004 N
10005 S
10005
10007
10002
10009 S
10010
10011
10012
10013
10014 |
10015 Digital Input15
10016 [N | Digit=! Irput16
30001 356 | Tepe/SW Yersion Move Mouse pointer over Value
30002 Input Status far Description
40003 Counter 1
40005 Counter 2 hd

Drigital Irput 1 il Description of Modbuz Register
Digital [nput 2
Digital lnput 3 Statug of Digital Input 1.

Digilal Input 4 Fed [D] =0FF
Digital Ibput & Green (1] = OM
Digital Input &

Digital [nput 7

Digital [nput 8

Digital Input 9

Digital Input10

Digital [nputd1

Digital [nputl 2

Digital Input1 3

Digital Input1 4

=

o)

o)

01600

Module Type: 101
Software Version, 1

todbus Yalue Label
Address

Digital Output 1 - Description of Modbus Register
Digital Output 2
Digital Output 3 Statuz of Digital Output 8.
D?g?tal Output 4 Fied (0] =OFF
Digital Output 5 Green [1] = OM
Digital Output &
Diigital Cutput 7 [Double Click to change
Digital Output 8
Digital Output 9
Digital Output]0
Digital Output] 1
Digital Output] 2
Digital Output] 3
Drigital Output 4
Drigital Output15
16 I |Crigital Output 6
20001 Type/SWw Yersion Move Maouse painter over Value
for Description
40002 Output Status
30100 1 |DIP Switch
4010 0 [Dutput Watchdog Timer 7]




[0-4R0

tod

ule Type: 113

Software Version, 1

Modbus
Address

30001

Walue

1 I
2 [
3

4 [

363

Label

Relay Output 1

Descnption of Modbus Register

Relay Output 2

Relay Output 3

Statuz of Relay Output 2.

Felay Output 4

Red [0)=0FF

Types/SW Yersion

Green [1]=0M

40002

Output Status

3

]

DIP Switch

Daouble Click to chanage

401

1]

Output "/ atchdog Timer

401

2

todbusg Master Timeout

40

03

M odbug Master B ate

40

21

Baud Rate

401

22

Farity

401

23

Stop Bit

10-8010

401

Maodule Type:

(o] o ) e Ll (fm ] o o § ey 8]

24

102

Software Verzion: 1

todbus
Address

100

100

300

Yalue

10001 G
10002

03

10004 SRR
10005 NG

0 I

10007 NG
10002 NG
|

17

15 I
1.
[N

el

21

22 [

23 [
o

24

]| 353

Feply Delay

Label

Digital Input 1

Digital Input 2

Digital Input 3

Digital Input 4

Digital [nput 5

Digital [nput &

Digital [nput 7

Digital [nput 8

Digital Output 1

Digital Output 2

Digital Output 3

Drigital Qutput 4

Digital Qutput 5

Digital Dutput &

Digital Dutput 7

Digital Dutput §

Type/SW Wersioh

300

02

=

Input Statuz

400

03 15

Output Status

400

04 1]

Counter 1

Move Mouse pointer over Value
for Dezcription

i‘ D ezcription of Modbus Register
Statug of Digital Output 4.

Red (0] =0FF
Green (1] = 0N

Double Click to change

Move Mouse pointer over Value
for Descrption

[
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tModule Type: 103
Software Werzsion: 1

todbus Walue Label

Address
30007 3599 | TypedSw Version
30002 10 | Current [nput 1
30003 0 |Current [nput 2
30004 0 |Current [nput 3
30005 0 |Current [nput 4
30006 0 |Current [nput 5
30007 0 |Current [nput &
30008 0 |Current [nput 7
30009 0 |Current [nput 8
30010 21845 |Input Status
20100 1 |DIP Switch
40141 1 |Baud Rate
40122 01| Parity
40123 01]5tap Bit
40124 0 |Reply Delay

10-B40

Module Type: 104

Software Verzion: 1

M odbus Walue Label

Address
30001 360 | TypedSh Yersion
30002 1 |Analog Input 1
30003 0 |Analog Input 2
30004 0 |Analog Input 3
30005 0 |Analog Input 4
30006 0 |Analog Input 5
30007 0 |Analog Input B
30003 0 |Analog Input 7
30009 0 |Analog Input 8
30010 21845 |Input Status
20100 1 |DIF Switch
40121 1 |Baud Rate
40122 (1| Parity
40123 0]5tap Bit
40124 0 |Reply Delay

Dezcription of Modbus Register

0 - 20méd Current Input 1
Range = 0 - 4095 [12 bitzg]

Move Mouse pointer over Value
for Deschption

Description of Modbus Register

0-10% Yoltage [nput 1
Range =0 - 4095 [12 bitg]

Move Mouse pointer over Valle
for Description
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Module Type: 105
Software Yerzion: 1

Modbus Walue Label

Address
30007 361 |Type/SW Version = Descriphion of Modbus Register
30002 166 | Thermocouple Input 1
30003 -32768 | Thermocauple Input 2 Themacouple Input 1

30004 -32768 | Themocouple Input 3
30005 -32768 | Thermocouple Input 4
30006 32768 | Themacouple lnput & Example: 101.4°C wil be read back as
30007 | -32768 | Themocounle Input 6 1m4

30008 -32768 | Thermocouple [nput 7

30009 -32768 | Thermocouple [nput 8

Range = -xuu.x bo +pppy y

30010 215 |CIC T emperature

30011 21844 |Input Status

30016 E5415 |Calibrate Raw Data

40017 0| Calibrate Control

30100 1 |DIP Switch

40101 1 |Themocouple Type

40102 A0 |Line Frequency

A3 100 [CIC Offset Move Mouse pointer over Yalue
40104 1 |Display Units ‘C/°F for Description
40121 1|Baud Rate

amz2 0 |Paiity d

I0-ERTD

Module Type: 109
Software Version: 1

todbus Yalue Label

Address
30001 365 | Type/Sw Version Dezcription of Modbus Regizter
30002 8500 |RTD Input 1
30003 -32768 [ATD Input 2 RTD Input 1

30004 32768 |RTD Input 3
30005 32768 |RTD Input 4

Range = -wwx.x b gy

30008 -327E2 |RTD Input & Example: 101.4°C wil be read back az
30007 | 32768 |RTD Input 6 1014
30008 1364 [Input Status

30016 34423 |Calibrate Raw Data

40017 0 |Calibrate Control

2000 1 |DIP Switch

40101 1IRTD Type

40102 50 |Line Frequency

40103 0 |Dizplay Unitz "C/F

40121 1 |Baud Rate

40 zz2 0| Parity

A023 0 [Step Bit Move Mouse pointer over Value
40124 0 [Reply Delay for Description



10-Dal0

Module Type: 112
Software Version: 1
Modbus Yalue Label
Address
10001 N |Cigital Input 1
10002 SN |Crigital Input 2
10003 SN |Crigital Input 3
o004 [ |Digitl Irout 4
17 Diigital Output 1
18 Digital Output 2
30001 368 | TypesShw Wersian
30002 0 |Input Status
40003 1 |Output Status
30004 32768 [RTD Input 1
20005 32768 |RTD Input 2
30006 0 |Analag Input 1
30007 0 |Analog Input 2
40003 0 |Analog Output 1
40003 0 |Counter 1
40011 0 |Counter 2
40013 0 |Counter 3
40015 0 |Counter 4
30031 0 |Calibrate Raw Data
40032 0 |Calibrate Channel

-

-

Description of Modbus Register

Statuz of Digital Output 1.

FRed [0]=0FF
Green [1] = 0N

Double Click to change

Mowve Mouze pointer over Walue
for D escription

i 10 Studio - BrainChild

File  About

Module 10 |1— Stop

10-16D1
Module Type: 100

Software Version: 1

Modbus Walue Label

Address
40044 0| Counter Capture 5
40045 0| Counter Capture B
40048 0| Counter Capture 7
40050 0| Counter Capture 8
40052 0| Counter Capture 9
40054 | Counter Capture 10
40056 0| Counter Capture 11
40058 | Counter Capture 12
40060 0| Counter Capture 13
40062 0| Counter Capture 14
40064 0| Counter Capture 15
40066 0| Counter Capture 16
30100 1 |DIP Switch
4010 1 |Counter Mode
40102 0 |Input Filter
40103 0|Counter Zera
40121 1 |Baud R ate
40122 0 |Parity
40123 0|Stop Bit
40124 0|Reply Delay

Comms

d Dezcription of Modbus Register
Baud Rate - Enter one of the following
walues, then switch on $W10 ta enable

2400
4200
3600
19200
38400
57600
11520

Move kousze pointer over Yalue
for Description
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E #188% % "#3%!& !

FH )4 B5% 8=/$#&!') 9%/$? D?84$ /# 21415 $!
(4cC

#O )$H 1# #S

B 49435 /2

B 4018

2 49 &5)) 7 4%

5&3#5S/# %= %NS H# 4% )I$H 4% (/S $&

# RealTime Configure

| HE%x& a\B8SE | s+~>2 [HE@

Ehadd | S vediy | % Delete |

5]
5%

XS $5# (1%< &$

)8#



& 6%

£2 )3433)4

N 5)) &%)=4/$ %)

5))  #( 9 &%)= 41 $ %)

M %% #BWNS!  # %S >1#&%)= 4/ $ %)C
148% >8 % )$#=%! |#

24 6106< &5 /3% %)= 4!

D o )BISM $% ) (1%4!

% !

File(F) Wiew(y) Page(P) Window(W) Language(l) Help(H)

Close
Recent
Create DDE link in Excel
Exit
WERAN Page(P)  Window(W) La
& Configuration data  Cirl+Al+C
Measured data Cirl+Al+M

Window(y) NEgeREeE(
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To let the new Bank setting teke effect, system will save them then restart | Continue 2(Y/)

eg Mo

&3 %) K #L )% 2 & %#8

% $ 2>? 1 0

() #%=$ !
$1$261%4! #? $ &E/#$ %) #$/8 %? !

There are no tag data in the project 1! Do you want to configure it 20 M)

Yes Mo

&3 %) K #L
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